
Subgroups

consider Dz -- { Ro , Rizo ,
12240 , F, i Fz , E3 } .

↳
in this group , the subset { Ro ,

Rizo
,
12240 } by

itself satisfies the dear . of a group .

{Ro , Rizo, Rzyo} is a
-

of Dz .

Defy A subset H of a group G that satisfies the definition

of a group undertheoperdti-nofa.us called a

subgroup of G. Denoted HSG (or HCG if It is

strictly smaller than G )
.

↳
if HCG

, say It is a- subgroup of G .

Subgroup

proper



EI . Subgroup of 2 :

Monje : s 12 is not a subgp b/c not closed under addu .

Money In & Z for any h
.

↳ why ?

Note : Every group has the trivial subgroup , ie .
H --
i

{evens} = { . - - ,-4, -2,0 , 2,4 , 6. - - f
↳
addition

{odds}

{0,1, 2 , . - - , n - I}

operations aren't same.

( addhmodh us. addition)

{e5
.



Note: Because associativity holds in G
,
and It inherits

its operation from G, when checking whether It is

a subgp , no need to check that associativity holds
.

Thus
,
at the most basic level

,
there are three steps to

proving that a nonempty subset H of a group G is a subgroup:

I
. if a

,
belt

,
then CH closed under binary operation)

j
Gz

.
-

⑥ t
3. if a e H ,

then
G

CH closed under inverses)
.
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